Physics 505                                                                                          Fall 2009
Homework #2
(due Friday, October 16, 2009)

1. (10 pts) Consider the two matrices 
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(a) Are these matrices Hermitian?

(b) Calculate the inverses of these matrices; are A and B unitary?
(c) Verify that the determinants of A and B are of the form ei. Find the corresponding values of 
2. (10 pts) 19.9 of R, H&B.
3. (10 pts) If A is a 4 x 4 matrix such that
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, where 
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(a) Find A.

(b) Show that 
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4. Reading assignment: Chapters 8 and 19 of R, H &B.
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